Unit 5: Systems of Equations
Lesson 1
Solving Systems by Graphing
A system of equations is 2 or more different equations.

Their solution is any point (x, y) that satisfies all of the equations.

In terms of a graph, the solution is the coordinates of any point where the graphs cross.


Solve by graphing, then check your answer:
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A Linear System is a system of 2 straight lines.


If the lines are parallel, they will have _______ solutions


If the lines have different slopes, they will have _________ solution

If the lines are coincident, they will have _________ solutions



Parallel Lines have the same slope, but different y-intercept

Coincident Lines have the same slope and same y-intercept

Examples:  How many solutions do the following have?
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If there is one or more solution, the system is called consistent.
If there is no solution, the system is called inconsistent.

Are the systems consistent or inconsistent?




Ex: Given the equation 
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, write second equation that will form a system with:

i) infinitely many solutions




ii) no solution



iii) one solution
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